ISSN 0232-704X, Volume 37, Number 4



This article was published in the above mentioned Springer issue. The material, including all portions thereof, is protected by copyright; all rights are held exclusively by Springer Science + Business Media. The material is for personal use only; commercial use is not permitted. Unauthorized reproduction, transfer and/or use may be a violation of criminal as well as civil law. ORIGINAL PAPER

Construction of conjugate functions

Paweł Nurowski

Received: 12 June 2009 / Accepted: 24 November 2009 / Published online: 11 December 2009 © Springer Science+Business Media B.V. 2009

Abstract We find all pairs of real analytic functions f and g in \mathbb{R}^n such that $|\nabla f| = |\nabla g|$ and $(\nabla f)(\nabla g) = 0$.

Keywords Conjugate functions · Spinors · Kerr theorem

Mathematics Subject Classification (2000) 53C28 · 53C43 · 58E20

1 Introduction

We consider the following problem: Let $n \ge 3$. Find all pairs of functions (f, g), $f : \mathbb{R}^n \to \mathbb{R}, g : \mathbb{R}^n \to \mathbb{R}$ such that

$$|\nabla f| = |\nabla g|, \quad (\nabla f)(\nabla g) = 0.$$

Functions *f* and *g* constituting such a pair are called *conjugate* [1].

The notion of conjugate functions can be traced back to Jacobi's paper [4]. It appears naturally in the context of *harmonic morphisms* [2], i.e. the maps F between two Riemannian manifolds (M, g) and (N, h), $F : M \to N$, which pullback harmonic functions locally defined on N to harmonic functions locally defined on M. Taking as $M = \mathbb{R}^n$ and $N = \mathbb{R}^2$, and as F = (f, g), it follows [2] that such F is a harmonic morphism, if and only if both f and g are harmonic and conjugate to each other.

Finding a pair of conjugate functions (f, g) is equivalent to finding a complex-valued function $h : \mathbb{R}^n \to \mathbb{C}$ such that

P. Nurowski (🖂)

Instytut Fizyki Teoretycznej, Uniwersytet Warszawski, ul. Hoza 69, Warszawa, Poland e-mail: nurowski@fuw.edu.pl

$$(\nabla h)(\nabla h) = 0.$$

Having h, one gets f and g as its real and imaginary parts, respectively.

While solving the above-stated problem at the algebraic level, one needs to find a nice representation for *null* vectors in \mathbb{C}^n . In dimension n = 3 this may be done by means of spinors.

2 General analytic solution in dimension three

The solution of the problem in dimension n = 3 is as follows.

We consider \mathbb{R}^3 with coordinates (x, y, z). The most general form of ∇h is given in terms of two complex-valued functions (a spinor) (ϕ_1, ϕ_2)

$$h_x = \phi_1^2 - \phi_2^2, \quad h_y = i(\phi_1^2 + \phi_2^2), \quad h_z = 2\phi_1\phi_2.$$

Now, the integrability condition for existence of h is

$$d\left[(\phi_1^2 - \phi_2^2)dx + i(\phi_1^2 + \phi_2^2)dy + 2\phi_1\phi_2dz\right] = 0,$$
(2.1)

which is equivalent to

$$[\phi_1(\mathrm{d} x + i\mathrm{d} y) + \phi_2\mathrm{d} z] \wedge \mathrm{d} \phi_1 + [-\phi_2(\mathrm{d} x - i\mathrm{d} y) + \phi_1\mathrm{d} z] \wedge \mathrm{d} \phi_2 = 0.$$

This motivates introduction of two functions

$$X_1 = \phi_1(x + iy) + \phi_2 z, \quad X_2 = -\phi_2(x - iy) + \phi_1 z.$$

Having them the integrability condition is

$$\mathrm{d}(X_1\mathrm{d}\phi_1 + X_2\mathrm{d}\phi_2) = 0.$$

Its general solution analytic in (x, y, z) is

$$X_1 = F_1(\phi_1, \phi_2) \quad X_2 = F_2(\phi_1, \phi_2),$$

where $F = F(\phi_1, \phi_2)$ is a complex-valued function analytic in both variables, and $F_1 = \frac{\partial F}{\partial \phi_1}, F_2 = \frac{\partial F}{\partial \phi_2}$.

Explicitly, one finds ϕ_1 and ϕ_2 specifying F arbitrarily and solving the algebraic equations

$$\phi_1(x+iy) + \phi_2 z = F_1(\phi_1, \phi_2) - \phi_2(x-iy) + \phi_1 z = F_2(\phi_1, \phi_2)$$
 for $(\phi_1, \phi_2).$ (2.2)

Once (ϕ_1, ϕ_2) is found then h is given by a simple integration of, e.g. equation $h_x = \phi_1^2 - \phi_2^2$. We then have

$$h = \int (\phi_1^2 - \phi_2^2) \mathrm{d}x.$$

This determines *h* modulo an addition of an arbitrary smooth function s = s(y, z). Finally, to fix this function, we use $h_y = i(\phi_1^2 + \phi_2^2)$ and $h_z = 2\phi_1\phi_2$. These equations have a solution for *s* because Eq. 2.2, which we used to define (ϕ_1, ϕ_2) , are equivalent, in an analytic category, to the integrability conditions (2.1). This solves the problem.

So, in dimension n = 3 the conclusion is that the general analytic solution is generated by one complex analytic function F of two variables. *Example* As a simple example, we take a quadratic function *F*:

$$F = \alpha \phi_1^2 + 2\beta \phi_1 \phi_2 + \gamma \phi_2^2 + \mu \phi_1 + \nu \phi_2,$$

where α , β , γ , μ , ν are complex constants. Then, Eq. 2.2 are

$$\phi_1(x + iy) + \phi_2 z = 2\alpha \phi_1 + 2\beta \phi_2 + 2\mu -\phi_2(x - iy) + \phi_1 z = 2\beta \phi_1 + 2\gamma \phi_2 + 2\nu.$$

Their solutions are given by

$$\frac{1}{2}\phi_1 = \frac{\mu(2\gamma + x - iy) + \nu(z - 2\beta)}{(z - 2\beta)^2 - (2\alpha - x - iy)(2\gamma + x - iy)}$$
$$\frac{1}{2}\phi_2 = \frac{\nu(2\alpha - x - iy) + \mu(z - 2\beta)}{(z - 2\beta)^2 - (2\alpha - x - iy)(2\gamma + x - iy)}.$$

Now, according to the above procedure, the function h is given by

$$\frac{1}{4}h = \frac{1}{4}\int (\phi_1^2 - \phi_2^2) dx = \frac{\mu^2 (2\gamma + x - iy) + \nu^2 (2\alpha - x - iy) + 2\mu\nu(z - 2\beta)}{(2\alpha - x - iy)(2\gamma + x - iy) - (z - 2b)^2} + s(y, z),$$
(2.3)

where s = s(y, z) is an arbitrary (sufficiently smooth) complex-valued function of variables y and z. Imposing conditions $h_y = i(\phi_1^2 + \phi_2^2)$ and $h_z = 2\phi_1\phi_2$ we find that $s = s_0 = \text{const} \in \mathbb{C}$. Taking f = Re(h) and g = Im(h) with h as in (2.3) and $s = s_0$, one can easily check¹ that $|\nabla f| = |\nabla g|$ and $(\nabla f)(\nabla g) = 0$.

3 General analytic solution in arbitrary dimension

Although, for arbitrary *n*, we cannot use spinors anymore, a similar procedure can be used to get a general analytic solution for any $n \ge 3$. This uses a bilinear parametrization of null vectors in \mathbb{C}^n , known in the theory of minimal surfaces [3].

In \mathbb{R}^n we introduce coordinates $(x_1, x_2, ..., x_n)$ and parametrize a general null vector $(h_{x_1}, h_{x_2}, ..., h_{x_n})$ by means of n - 1 complex functions $(\phi_1, \phi_2, ..., \phi_{n-1})$ via

$$h_{x_{1}} = \phi_{1}^{2} + \phi_{2}^{2} + \dots + \phi_{n-2}^{2} - \phi_{n-1}^{2}$$

$$h_{x_{2}} = i(\phi_{1}^{2} + \phi_{2}^{2} + \dots + \phi_{n-2}^{2} + \phi_{n-1}^{2})$$

$$h_{x_{3}} = 2\phi_{1}\phi_{n-1}$$

$$\dots$$

$$h_{x_{k}} = 2\phi_{k-2}\phi_{n-1}$$

$$\dots$$

$$h_{x_{n}} = 2\phi_{n-2}\phi_{n-1}.$$
(3.1)

One easily checks² that $(\nabla h)(\nabla h) = 0$.

¹ It is a straightforward but *lengthy* algebra. Using version 7.0 of the Mathematica symbolic calculation program, and Dell XPS computer with Intel Core Duo processor, this check lasted 333 s of the CPU time!

 $^{^2}$ I thank J.C. Wood (private communication) for pointing out this.

Now the integrability condition

$$d [h_{x_1} dx_1 + h_{x_2} dx + \dots + h_{x_n} dx_n] = 0$$

for existence of $h : \mathbb{R}^n \to \mathbb{C}$ satisfying (3.1) is

$$d[X_1 d\phi_1 + X_2 d\phi_2 + \dots + X_{n-1} d\phi_{n-1}] = 0$$

with n - 1 functions $(X_1, X_2, \ldots, X_{n-1})$ given by

$$X_{1} = \phi_{1}(x_{1} + ix_{2}) + \phi_{n-1}x_{3}$$

$$X_{2} = \phi_{2}(x_{1} + ix_{2}) + \phi_{n-1}x_{4}$$
...
$$X_{n-2} = \phi_{n-2}(x_{1} + ix_{2}) + \phi_{n-1}x_{n}$$

$$X_{n-1} = -\phi_{n-1}(x_{1} - ix_{2}) + \phi_{1}x_{3} + \phi_{2}x_{4} + \dots + \phi_{n-2}x_{n}.$$

Thus, similarly to the n = 3 case, we first choose an arbitrary holomorphic function $F = F(\phi_1, \phi_2, \dots, \phi_{n-1})$ of n-1 complex variables and, denoting its derivatives by $F_i = \frac{\partial F}{\partial \phi_i}$, $i = 1, 2, \dots, n-1$, solve algebraic equations

$$F_{1} = \phi_{1}(x_{1} + ix_{2}) + \phi_{n-1}x_{3}$$

$$F_{2} = \phi_{2}(x_{1} + ix_{2}) + \phi_{n-1}x_{4}$$
...
$$F_{n-2} = \phi_{n-2}(x_{1} + ix_{2}) + \phi_{n-1}x_{n}$$

$$F_{n-1} = -\phi_{n-1}(x_{1} - ix_{2}) + \phi_{1}x_{3} + \phi_{2}x_{4} + \dots + \phi_{n-2}x_{n},$$
(3.2)

for $(\phi_1, \phi_2, ..., \phi_{n-1})$ as functions of $(x_1, x_2, ..., x_n)$. Then, *h* is found by simple integration to be, e.g. $h = \int 2\phi_{n-2}\phi_{n-1}dx_n$. This defines *h* modulo an addition of an arbitrary function $s = s(x_1, x_2, ..., x_{n-1})$ of the remaining variables $(x_1, x_2, ..., x_{n-1})$, which is fixed by imposing the first (n - 1) conditions (3.1) on such an *h*. This solves the problem for any $n \ge 3$.

Remark 3.1 We note that, under some regularity assumptions on the function F, Eq. 3.2 associate with any solution h an n-dimensional real submanifold M_n embedded in \mathbb{C}^{n-1} . One gets the equations for this submanifold in coordinates $(\phi_1, \phi_2, \ldots, \phi_{n-1}) \in \mathbb{C}^{n-1}$ by eliminating the real parameters (x_1, x_2, \ldots, x_n) from Eq. 3.2. For example if n = 3, given $F = F(\phi_1, \phi_2)$, we have a 3-dimensional real hypersurface M_3 in \mathbb{C}^2 defined by

$$M_3 = \{(\phi_1, \phi_2) \in \mathbb{C}^2 : \operatorname{Im}(F_1 \overline{\phi}_2 - F_2 \overline{\phi}_1) = 0\}.$$

In the case of n = 4, given $F = F(\phi_1, \phi_2, \phi_3)$ we have

$$\begin{split} M_4 &= \{(\phi_1, \phi_2, \phi_3) \in \mathbb{C}^3 :\\ 0 &= \operatorname{Im} \left(\bar{\phi}_3 \left[F_1(\phi_2^2 \bar{\phi}_1^2 + |\phi_2|^4 - |\phi_1 \phi_3|^2 - |\phi_3|^4) \right. \\ &\left. - F_2(|\phi_2|^2 \phi_1 \bar{\phi}_2 + (|\phi_1|^2 + |\phi_3|^2) \phi_2 \bar{\phi}_1) + F_3 \phi_3(\phi_1 \bar{\phi}_2^2 + (|\phi_1|^2 + |\phi_3|^2) \bar{\phi}_1) \right] \right) \\ 0 &= \operatorname{Im} \left(\bar{\phi}_3 \left[F_1(|\phi_1|^2 \phi_2 \bar{\phi}_1 + (|\phi_2|^2 + |\phi_3|^2) \phi_1 \bar{\phi}_2) \right. \\ &\left. - F_2(\phi_1^2 \bar{\phi}_2^2 + |\phi_1|^4 - |\phi_2 \phi_3|^2 - |\phi_3|^4) - F_3 \phi_3(\phi_2 \bar{\phi}_1^2 + (|\phi_2|^2 + |\phi_3|^2) \bar{\phi}_2) \right] \right) \}. \end{split}$$

We also note that submanifolds M_n are foliated by (n-2)-dimensional leaves which are the images under the map $(x_1, x_2, ..., x_n) \mapsto (\phi_1, \phi_2, ..., \phi_{n-1})$ of the intersections in \mathbb{R}^n of the level surfaces $f = c_1$ and $g = c_2$ corresponding to the conjugate functions (f, g) associated with h. Thus, in particular, M_3 has a distinguished foliation by real curves and M_4 has a distinguished foliation by real surfaces.

4 Solution in terms of trilinear parametrization of null vectors in dimension five

It is interesting to note that in dimension n = 5, a slightly different procedure, based on a *tri*linear parametrization of complex null vectors, can be used to find solutions to the problem.

In \mathbb{R}^5 we use coordinates (x, y, z, t, u). Now we write a null vector $(h_x, h_y, h_z, h_t, h_u)$ in terms of *six* functions $(\phi_1, \phi_2, \phi_3, \phi_4, \phi_5, \phi_6)$ as follows:

$$h_{x} = i(\phi_{1}\phi_{2} + \phi_{3}\phi_{4})\phi_{5} - \frac{1}{2}(\phi_{1}^{2} + \phi_{2}^{2} - \phi_{3}^{2} - \phi_{4}^{2})\phi_{6},$$

$$h_{y} = i(-\phi_{1}\phi_{3} + \phi_{2}\phi_{4})\phi_{5} + (\phi_{2}\phi_{3} - \phi_{1}\phi_{4})\phi_{6}$$

$$h_{z} = (-\phi_{1}\phi_{2} + \phi_{3}\phi_{4})\phi_{5} - \frac{i}{2}(\phi_{1}^{2} + \phi_{2}^{2} + \phi_{3}^{2} + \phi_{4}^{2})\phi_{6}$$

$$h_{t} = (\phi_{1}\phi_{3} + \phi_{2}\phi_{4})\phi_{5}$$

$$h_{u} = (\phi_{1}\phi_{3} + \phi_{2}\phi_{4})\phi_{6}.$$
(4.1)

Check that $h_x^2 + h_y^2 + h_z^2 + h_t^2 + h_u^2 = 0$. Remarkably again, the integrability conditions

$$d \left[h_x dx + h_y dy + h_z dz + h_t dt + h_u du\right] = 0$$

for the existence of $h : \mathbb{R}^5 \to \mathbb{C}$ satisfying (4.2), are equivalent to

$$d(Xd\phi_1 + Yd\phi_2 + Zd\phi_3 + Td\phi_4 + Ud\phi_5 + Wd\phi_6) = 0$$

where

$$\begin{split} X &= \phi_3 \phi_5(t - iy) - (\phi_1 \phi_6 - i\phi_2 \phi_5)(x + iz) - \phi_4 \phi_6 y + \phi_3 \phi_6 u \\ Y &= \phi_4 \phi_5(t + iy) - (\phi_2 \phi_6 - i\phi_1 \phi_5)(x + iz) + \phi_3 \phi_6 y + \phi_4 \phi_6 u \\ Z &= \phi_1 \phi_5(t - iy) + (\phi_3 \phi_6 + i\phi_4 \phi_5)(x - iz) + \phi_2 \phi_6 y + \phi_1 \phi_6 u \\ T &= \phi_2 \phi_5(t + iy) + (\phi_4 \phi_6 + i\phi_3 \phi_5)(x - iz) - \phi_1 \phi_6 y + \phi_2 \phi_6 u \\ U &= \phi_1 \phi_3(t - iy) + \phi_2 \phi_4(t + iy) + i\phi_1 \phi_2(x + iz) + i\phi_3 \phi_4(x - iz) \\ W &= -\frac{1}{2}(\phi_1^2 + \phi_2^2)(x + iz) + \frac{1}{2}(\phi_3^2 + \phi_4^2)(x - iz) + (\phi_2 \phi_3 - \phi_1 \phi_4)y + (\phi_1 \phi_3 + \phi_2 \phi_4)u. \end{split}$$

Thus, taking an analytic function $F = F(\phi_1, \phi_2, \phi_3, \phi_4, \phi_5, \phi_6)$ of six variables, and solving algebraic equations

$$\begin{split} F_1 &= \phi_3 \phi_5(t - iy) - (\phi_1 \phi_6 - i\phi_2 \phi_5)(x + iz) - \phi_4 \phi_6 y + \phi_3 \phi_6 u \\ F_2 &= \phi_4 \phi_5(t + iy) - (\phi_2 \phi_6 - i\phi_1 \phi_5)(x + iz) + \phi_3 \phi_6 y + \phi_4 \phi_6 u) \\ F_3 &= \phi_1 \phi_5(t - iy) + (\phi_3 \phi_6 + i\phi_4 \phi_5)(x - iz) + \phi_2 \phi_6 y + \phi_1 \phi_6 u \\ F_4 &= \phi_2 \phi_5(t + iy) + (\phi_4 \phi_6 + i\phi_3 \phi_5)(x - iz) - \phi_1 \phi_6 y + \phi_2 \phi_6 u \\ F_5 &= \phi_1 \phi_3(t - iy) + \phi_2 \phi_4(t + iy) + i\phi_1 \phi_2(x + iz) + i\phi_3 \phi_4(x - iz) \\ F_6 &= -\frac{1}{2}(\phi_1^2 + \phi_2^2)(x + iz) + \frac{1}{2}(\phi_3^2 + \phi_4^2)(x - iz) + (\phi_2 \phi_3 - \phi_1 \phi_4)y + (\phi_1 \phi_3 + \phi_2 \phi_4)u \end{split}$$

for $(\phi_1, \phi_2, \phi_3, \phi_4, \phi_5, \phi_6)$ as functions of (x, y, z, t, u), we generate a solution to $(\nabla h)(\nabla h) = 0$ via, for example, an integral $h = \int [(\phi_1 \phi_3 + \phi_2 \phi_4)\phi_6] du$.

Acknowledgements This note is motivated by a paper [1]. I thank Michael Eastwood and James C. Wood for clarifying discussions. The presented solution of the problem reminds very much the way in which the Kerr theorem is proved (see, e.g. [5,6]).

References

- Baird, P., Eastwood, M.: Conjugate functions and semiconformal mappings. Proc. Conf. Prague, August 30–September 3, 2004, Charles University, Prague, pp. 479–486 (2005)
- Baird, P., Wood, J.C.: Harmonic Morphisms between Riemannian Manifolds. Oxford University Press, Oxford (2003)
- Hoffman, D.A., Osserman, R.: The geometry of the generalized Gauss map. Mem. Am. Math. Soc. 28(236), 1–105 (1980)
- 4. Jacobi, C.G.J.: Über eine Lösung der partiellen Differentialgleichung $\frac{\partial^2 V}{\partial x^2} + \frac{\partial^2 V}{\partial y^2} + \frac{\partial^2 V}{\partial z^2} = 0$. J. Reine Angew. Math. **36**, 113–134 (1848)
- Nurowski, P.: Einstein equations and Cauchy-Riemann geometry. PhD Thesis, International School for Advanced Studies, Trieste, also available at www.fuw.edu.pl/~nurowski/publikacje.html (1993)
- Nurowski, P., Trautman, A.: Robinson manifolds as the Lorentzian analog of Hermite manifolds. Diff. Geom. Appl. 17, 175–195 (2002)